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QUESTION 1

You are testing a custom HTTP application and are required to open all ports for inbound host traffic to your SRX Senes
device. 

Which configuration parameter would you use to meet this requirement? 

A. All 

B. Https 

C. Any-service 

D. Http 

Correct Answer: C 

 

QUESTION 2

You want to create an out-of-band management zone and assign the ge-0/0/0.0 interface to that zone. From the [edit]
hierarchy, which command do you use to configure this assignment? 

A. set security zones management interfaces ge-0/0/0.0 

B. set zones functional-zone management interfaces ge-0/0/0.0 

C. set security zones functional-zone management interfaces ge-0/0/0.0 

D. set security zones functional-zone out-of-band interfaces ge-0/0/0.0 

Correct Answer: C 

 

QUESTION 3

A packet that does not belong to an existing session enters your SRX Series device. Your SRX Series 

device is operating in its default mode. 

Which two statements are true? (Choose two.) 

A. The packet is processed through the fast path. 

B. The packet is subject to policer operations. 

C. Thepacketissubjecttostatelessfilters. 

D. The packet is not processed because no session ID exists. 

Correct Answer: BC 
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QUESTION 4

For IKE phase 1 negotiations, when is aggressive mode typically used? 

A. when one of the tunnel peers has a dynamic IP address 

B. when one of the tunnel peers wants to force main mode to be used 

C. when fragmentation of the IKE packet is required between the two peers 

D. when one of the tunnel peers wants to specify a different phase 1 proposal 

Correct Answer: A 

 

QUESTION 5

Which statement is correct about zone and interface dependencies? 

A. A logical interface can be assigned to multiple zones. 

B. A zone can be assigned to multiple routing instances. 

C. Logical interfaces are assigned to a zone. 

D. A logical interface can be assigned to multiple routing instances. 

Correct Answer: C 
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